MAT" SOLVE AND IDENTIFY WHICH IS A

actwnty GREATER NUMBER
(6+2) (7+2) (9-17) (3+2)
3 <l 9
(5+6)  (3+8) (4+0) (8-17)
(9-5)  (6+2) (6-3) (2+1)
(7+3)  (10-1) (1%1) (1+1)
(4X2)  (2X3) (4+2) (4X2)
(5X2) (10+2) (14+7) (10X0)




MATH
activity

WORD PROBLEMS

e JhON and JiNa receive a tuyo Stack Of preSent. The
firSt Stack has 20 presernts uhife the other Stack
has 16 preSents. Hous many preSents in totaf are
there?

e JANe have 13 candieS. She gave 2 O John and 3 £o Jia.
Houd many candie S doe S Jare have feft?

e JOhN bought a box of candieS. A box consiSt Of 12
candie S. Her mother gave him 8 more. Houd many
candie S iN total doe S he have Nouy?

e Jane has 40 Stamps. Jhon give S hert 5 more Stamps.
ANd Jina afSo give her 10 more. Houy many Stamps
doe S Jane have?

e JiNA LIANES O buyY a 203 LIorth oOf present. She

recieve 1§ from her mother and 8§ from hiS father.
Houws much more doeS She need £o buy the preSent

Y



MATH

What Time s 12

activity
ORORY
SRONG
9:55 5:35 10:50
ORORO

-



